B SH7F4R1BNSDEFXEVNFER) BE X1 B SH7F4818H5DEFXE (FFR)

’J‘#*;;E 'E /& i T_ l:Fl.ul. TREE 4 i
SR &1 R TE R e 8 7f
m—TH f—TH
_ m=TE i
HENER |A=TH
H%ﬁﬁ& =T AB—TE1E 2% 38(1,2,14,162). 6%, 8~14% E—TE~=TH AS—TH
— 15%(3,72).17%(1~35,52,6- 1120 —15,122) (A ﬁ%—TE_ BE-—TH1E.10%. 13&. 14%
AS—TH 18%. 19%. 20%(1,2,42.,5-920—#,102) — AB=TEH
A=TE RAE=TB-ATE | pemTais 28050-#.9,1012,13,179)
BB—TH3&(59,11~138). 5&. 15%(108). 16%. Sz 1o 7= B 208l 2155
17&(620—5,7~92,1120—1F).
BESE—IVER| BE=TH 20%(52N—25,6~82, 02D —88). 218, 22%. 25~27%
BEE—ui#El EemTHE BE-—TH1E. 10&. 13&. 14% BEE-TH HB-TH2~9%. 15~20%
AE=TH ECx—TH BEmTH2HF(1S50D—2ER). 3&(1~35,5~75,175ND—:k,
BENTEIE. 2&(120—1,9,10,12,13,172). o 18,192). 4~ 7%, 18%. 19%
BEES"THI~17H ’
3&(12~165,1720—8). 8~17%. 20&(182). 215& . e r=
H%—Tazqﬁl 20% ) IRBERER | 5o S =TH E’EW
— N ~ . “x — 52/
ﬁ%%:’1\$*§ H%:TE H%ETEZ%(]%O)—EB) H#thETE‘I 4%\ B%Eiﬁ
Fiﬁﬁ_jﬁﬁ EE—T B 3E(1~38,5~72,1720—1,18,192). 4~7%. 18%. 19& 8~13% XBEES_THI18%F MTH6HE ATH. NTH.
A = Iee=—TH EB—TH-—TE mE—TH-ZTH 2501 WA= TH~ A TEEHH6E4A 10N SHEEFRBE

BB=THE~ATH ><’°“$I]6$4H1El7b‘b BT/ \FR

7 LSS

(mﬁdﬁé
:';- mw& )

*f"
B ,.r'//»,amzsm ML]D
&m 7 tTE }

2, 25 mwe L
TE“\ /AN mmTme s
I < FEeTTT HETS

ARR=TR

* peamEmm

| BB =
////
7 Z R S ER]

NFERRI D& ll:iilid\ﬂ*lb-%bim




